

Rugged Diamond drilling tools to tackle your coring jobs.



## HAND HELD CORE DRILL

The **CDM1H** is a value packed hand-held electric drill specifically designed to tackle multiple hole drilling applications. The unit operates at 110V/13A, generates 2,200 RPM, and provides slip clutch and overload protection. The High RPM system specifically supports the COBRA BIT Series (1" thru 5" dia.) for DRY drilling of Cured Concrete and hard Masonry. Supports WET Core Bits (up to 3" dia.). "Included is a Water Kit that supports WET Drilling."



#### **KIT INCLUDES:**

- Drill w/ convenient Shoulder Rest
- Water Kit
- Bit Wrenches
- Adapter M18F to 5/8"-11
- Adapter M18F to 1-1/4"-7
- Plastic Carrying Case



## DRILL RIG SERIES - CDM2CSA

Complete Drill Rigs are ordered by Individual Components



#### CDM2CSA

Mini Angle Base Combo Stand 2" Square Column w/Carriage Column Height - 36" Bit Capacity - 9" Diameter Total Wt. w/Motor - 62 lbs.



#### CDM2CSA

Drill Motor, 120V/15A 60 Hz Integrated ON/OFF Switch 2-Speed 600/1,200 RPM Thread Size 1 1/4"- 7 Male



#### **CDMVP**

Vacuum Pump w/ Fittings 120V / 60Hz





# DRILL RIG SERIES - CDM3CS - 3 RIGS

Complete Drill Rigs are ordered by Individual Components



### **RIG OPTION 1**

CDM3CS	<ul> <li>Combo Stand - 42" Column</li> <li>2 1/2" Square Column w/Carriage</li> <li>Bit Capacity - 6" Diameter</li> <li>Bit Capacity - 9" w/Spacer.</li> </ul>	
DM15A9C	<ul> <li>Drill Motor, 120V/15A 60 Hz</li> <li>Integrated ON/OFF Switch</li> <li>2-Speed 600/1,200 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>	<b>9</b> ************************************
CDMVP	<ul><li>Vacuum Pump w/Fittings</li><li>120V 60 Hz</li></ul>	
CDM3SP	Spacer Block, for 12" Dia. Bits	

### **RIG OPTION 2**

CDM3CS	<ul> <li>90° Combo Stand</li> <li>2 1/2" Square Column w/Carriage</li> <li>Column Height - 42"</li> <li>Bit Capacity - 10" Diameter</li> <li>Bit Capacity - 12" w/ Spacer</li> </ul>
DM4094	<ul> <li>Drill Motor, 120V/20A 60 Hz</li> <li>Shear Pin</li> <li>2-Speed 450/900 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>
CDMVP	<ul><li>Vacuum Pump w/ Fittings</li><li>120V 60 Hz</li></ul>
СОМЗСР	Control Panel, 120V     For Milwaukee Motors
CDM3SP	Spacer Block, for 12"     Dia. Bits











## **RIG OPTION 3**

CDM3CS	<ul> <li>90° Combo Stand</li> <li>2 1/2" Square Column w/Carriage</li> <li>Column Height - 42"</li> <li>Bit Capacity - 10" Diameter</li> <li>Bit Capacity - 12" w/ Spacer</li> </ul>
DM4094	<ul> <li>Drill Motor, 120V/20A 60 Hz</li> <li>Slip clutch</li> <li>2-Speed 450/900 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>
CDMVP	<ul><li>Vacuum Pump w/ Fittings</li><li>120V 60 Hz</li></ul>
CDM3CP	Control Panel, 120V     For Milwaukee Motors
CDM3SP	Spacer Block, for 12"     Dia. Bits



# DRILL RIG SERIES - CDM3CS - 3 RIGS

Complete Drill Rigs are ordered by Individual Components There are 3 RIG options

### **RIG OPTION 1**

CDM3CSA	<ul> <li>Combo Stand - Angle Mast</li> <li>42" x 2 1/2" Square Column w/Carriage</li> <li>Bit Capacity - 6" Diameter</li> <li>Bit Capacity - 9" w/Spacer</li> </ul>	
DM15A9C	<ul> <li>Drill Motor, 120V/15A 60Hz</li> <li>Integrated ON/OFF Switch</li> <li>2-Speed 600/1,200 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>	
CDMVP	<ul><li>Vacuum Pump w/Fittings</li><li>120V 60 Hz</li></ul>	
CDM3SP	Spacer Block, for 12" Dia. Bits	



#### **RIG OPTION 2**

CDM3CSA	<ul> <li>Combo Stand - Angle Mast</li> <li>42" x 2 1/2" Square Column w/Carriage</li> <li>Bit Capacity - 6" Diameter</li> <li>Bit Capacity - 9" w/Spacer</li> </ul>	
DM4094	<ul> <li>Drill Motor, 120V/15A 60Hz</li> <li>Integrated ON/OFF Switch</li> <li>2-Speed 600/1,200 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>	
CDMVP	<ul><li>Vacuum Pump w/Fittings</li><li>120V 60 Hz</li></ul>	
CDM3CP	Control Panel, 120V for Milwaukee Motors	
CDM3SP	Spacer Block, for 12" Dia. Bits	

### **RIG OPTION 3**

CDM3CSA	<ul> <li>Combo Stand - Angle Mast</li> <li>42" x 2 1/2" Square Column w/carriage</li> <li>Bit Capacity - 10" Diameter</li> <li>Bit Capacity - 12" w/Spacer</li> </ul>	
DM4096	<ul> <li>Drill Motor, 120V/15A 60Hz</li> <li>Slip clutch</li> <li>2-Speed 450/900 RPM</li> <li>Thread Size 1 1/4"-7 Male</li> </ul>	
CDMVP	<ul><li>Vacuum Pump w/Fittings</li><li>120V 60 Hz</li></ul>	
СРМЗСР	<ul> <li>Control Panel, 120V for Milwaukee Motors</li> </ul>	
CDM3SP	Spacer Block, for 12" Dia. Bits	4





## TO PURCHASE THIS PRODUCT PLEASE CONTACT US



**Equipment Financing and Extended Warranties Available** 



Discount-Equipment.com is your online resource for commercial and industrial quality parts and equipment sales. 561-964-4949
visit us on line @ www.discount-equipment.com

Select an option below to find your Equipment

Search by Manufacturer

Search by Product Type

Request a Quote

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman, Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto, Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack, Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair, Basic, Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti, Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench, Bil-Jax, F.S. Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin, Rice, CH&E, General Equipment, Amida, Coleman, NAC, Gradall, Square Shooter, Kent, Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air, APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith Surface Prep, Small Line, Wanco, Yanmar